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BACHELOR'S DEGREE PROGRAMME 

Term-End Examination 

December, 2012 

ELECTIVE COURSE : COMMERCE 
ECO-13 : BUSINESS ENVIRONMENT 

Time : 2 hours 	 Maximum Marks : 50 

(VVeightage 70%) 

Note : Attempt any four questions including question No. 1 

Which is compulsory. 

1. 	Attempt any four of the following questions. 5x4=20 

(a) Outline the indicators of economic 

development. 

(b) Explain the concept of Workers 

participation in management. 

(c) Enumerate the components of 'Macro 

Environment of Business'. 

(d) Explain the gains from Privatisation 

(e) Outline the functions of WTO..  

(f) Distinguish between Current account and 

Capital account of Balance of Payments. 
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2. Explain the role of Government in business. What 10 

are the changes that have taken place in India 

after liberalisation ? 

3. Describe the advantages and disadvantages of 10 

Foreign capital in the industrial development of a 

country. 

4. What is the meaning of monetary policy ? 10 

Describe the instruments of monetary policy in 

India. 

5. Explain the salient features of Consumer 10 

Protection Act of 1986. State the specific rights 

given to the consumers under this Act. 

6. Explain the concept of Joint Ventures. What are 10 

the different types of Joint Ventures Prevalent in 

India ? Outline the advantages and disadvantages 

of any one of these types. 

7. Explain the major export promotion measures 10 

initiated by the Government of India. 
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